
Quiz 1 solutions
du

(1) So x= cos(X) + Tox
SXzcos(X) - sinx

-2X= x2sinx+ 2xcosX- Isinx 15 -
- COSXt2

= (+2 sinc + IncOSH-2sinist -

o --sinx

[02sino + 210) cos0 - 2sin0]
=- 2π

u=InX dv= XdX
12) S xinxdx

= Inx .x2 -SXdx
du=x V

=nx-xdx
= Enx- + c

Quiz 2 solutions

2) Stan2025x sec"Xdx

save a copy of secix for du , turn rest of secs -> tans
, u = tanx

↓ tan2025x . secix-secx dy

Let u= tanX= Stan2025
x (tan2x + 1) · secx dy

du= seex dy

= Su2025(n2 + 1)du = f(u2027 + n2025)du

= 12028+xt
12) Ssin4x dx

sin2x = E(1-10s2X)= Ssin2x · sin2X dx

= S(zl1-cos2x)]dx
=[S11-cos2X)2dx
= #(11-210s2X + 10s212x)/dx cos2(2x) =E)1 + cos4X)

=If (1 - 210S2X + =(1 + 20s4x))dy

-Xcox
= 3X/8 - SX +S



Quiz 3 Solutions

(1) Sta**
X = Stano

dx = 3sec2OdO

3secrodof 3Sec20dOS = 3secodo ( Seco do =J seooI 3 sec 20(3tan0)2 + 32 9 (tan 20+1)
= In/secO+ tano +C

X= Stand

=tanoInla+
I dXS(2) Xz - X-2

Note X2 - X - 2 = (x-2)(X+1)

I A + B
-

X2 -X -2 X-2X+ 1

cover up Sxzx-c** = (axA : 1 = 12 +1 = -(n)x-2) - 5(n(x+11 +c

B : ==-
- 1 - 2

Quiz 4 Solutions

(1) S
,

0 xe-X2dx First
, calculate the indefinite integral

Sxe-X2aX Let u = - X=imSxe
du= - 2xdy

: S-Ze" du
=-du = xdX=-Zen + C

=-- X2
+ c

now return to our limit, plug in t

SixeX2dx = lim [eX]
y = eX

+
= te =e

W

as + -> 0,

e
-t

- 0



u= x2 + 2x + 18X+4dX
(2) S X2+ 2x +10 du=(2x +2)dx

SEXt8I
=/x

--
Synex +

10ax
complete It :

(x +10ax E =2)2 = 1
u= x2 + 2x +10 ~du = 2x +2dx dX So,=3)X2+ 2x +10

=S = in(u) + c X2 +2X + 10 =

(x+ 12 - 1 + 10- (n(x2 + 2x +10) + C = 3) dy

(x+i)2+32
= (x+1)2 +d

= 6 .Larctan(* ) + c

= 2 tan()+

=E((n)xz + 2x+ 10) + 2 arctan))) +c

= [In(x2+ 2x+101 + arctan(X) + c

n drop the abs. value bars
, since this quadratic always positive


